* BN (L &REBR)
A BESPKHESE
(H) #%0 34 44 1H (F) &Fn 44 3A31H
(B4 : M)
oW E #® H T OB = RMW-®B &
T | [ EREEFR SR 1, 000 1, 000
% | A | ZRFEEYSIA 7, 000 5,935
& Z DDA 2, 000 2, 000
) HERA 2,000 2, 000
Iz RTINS 1) 10, 000 8,935
| X |AHEXH 600, 000 115, 000
3|t e EB 600, 000 115, 000
I HEEIH 1, 700, 000 63, 386
X it E AT EE X 60, 000 15, 845
THEMF T 3 10, 000 4,720
BHMEEL BN 200, 000 366
PR R A 2 32
{5 ERE 20, 000
SEE 90, 000 1,063
-t 390, 000 11, 600
EBTEXH 460, 000 6, 292
FHEZH 50, 000 340
(ESET S S 290, 000 7,160
WO E T H 50, 000
HEBEXH 70, 000 6, 000
HEXH 10, 000 10, 000
FIEEN (2 2, 300, 000 178, 386
HEEHESINTZERQ)=(1)-(2) A2, 290, 000 A169, 451
e | IR |55 ER 3 S 4 Bh A
F A | S TSI
3% EREFFNAZ (@)
fif | X |RIEESEASILSEEIH
% | H |BEEEREH
e F OMOFEREMRHEIC L DX H
X HasREMmEZ ME  (5)
% MBS E I 24 (6)=(4) - (5)
Z | |FESCE BRI
D (A [BLRX sy A A 2, 300, 000 100, 000
ftts F DM DOTEBIRAGH (T) 2, 300, 000 100, 000
O |3 | EEXH
T | | X Sy AR A ST
&) EOMOTEBIZHIE (8)
I | DM OTEEYE SN ST ERR (9)=(T)-(8) 2, 300, 000 100, 000
Y HIE SN X ZEFEEE(10)=(3) +(6) +(9) 10, 000 A\69, 451
ATRIR I E &7 (11) 10, 588, 000 AT9
LRI E &7 (10) +(11) 10, 598, 000 A69, 530




